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QUESTION 1
Which of the following statements are true about fiber-shared virtual path protection?

A. The VC-4 timeslots of an optical path allocated to an MSP ring and those allocated for an SNCP ring must be
different.

B. When the VC-4 timeslots of an optical path allocated to both an MSP ring and an SNCP ring are the same, services
on the VC-4 timeslots have double protection.

C. The VC-4 timeslots of an optical path allocated to two MSP rings must be different.

D. When the VC-4 timeslots of an optical path allocated to two MSP rings are the same, services on the VC-4 timeslots
have double protection.

E. The VC-4 timeslots of an optical path allocated to two SNCP rings must be different.

F. When the VC-4 timeslots of an optical path allocated to two SNCP rings are the same, services on the VC-4 timeslots
have double protection.

Correct Answer: ABCE

QUESTION 2

The actual optical power received should meet the requirements: (minimum sensitivity + 5 dB)
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 3

All NEs of a subnet are unreachable to the U2000, but the communication between the other subnets and the U2000 is
normal. What are the possible causes of this phenomenon?

A. Incorrect fiber connections or fiber faults

B. Failure in the U2000

C. The IP address of the gateway NE is changed by mistake.

D. The SCC board of the NE that is at the border of the affected subnet is faulty.

E. The network size is too large, and ECC communication is beyond the processing capability of the network.

Correct Answer: ACE
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QUESTION 4

Which of the following are true about the relationship between pointer justification and bit errors?
A. Justification of a large number of pointers may cause bit errors,

B. A large number of bit errors may cause pointer justification.

C. Bit errors do not lead to pointer justification.

D. Pointer justification does not lead to bit errors.

Correct Answer: AC

QUESTION 5

Which of the following are false about software installation on the PC that runs the NMS?
A. Ensure that anti-virus software is installed on the PC.

B. Game software can be installed after anti-virus software.

C. You can access the Internet on the PC.

D. Regular upgrade is not needed for the anti-virus software.

Correct Answer. ABC

QUESTION 6

What is the line rate of 64-byte frames on an FE port of transmission equipment?
A. 148810 frames/s

B. 8128 frames/s

C. 156250 frames/s

D. 8160 frames/s

Correct Answer: A

QUESTION 7

On a network where MSP rings and SNCP rings share fiber resources, if Assigned by VC-4 is selected, you need to set
holdoff time for SNCP services.

A. TRUE

B. FALSE
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Correct Answer: B

QUESTION 8

An NE is frequently unreachable to the NMS. Which of the following are possible causes?

A. Conflicted NE IDs or IP addresses

B. The network size is too large, and ECC communication is beyond the processing capability of the network.
C. On the network, multiple users are attempting to log in to the NE.

D. The cross-connect board is faulty.

E. The SCC board is faulty.

Correct Answer:. ABE

QUESTION 9

When optical fibers are incorrectly connected, lots of pointer justification events will occur. Which of the following
methods can be used to further locate the fault?

A. Disconnect fibers and shut down lasers.

B. Insert the MS_RDI alarm on the NMS.

C. Observe pointer justification events.

D. Change the J1 byte traced by a higher order path on the NMS.

Correct Answer: ABD

QUESTION 10

Which of the following about the conditions that trigger rerouting on NG-SDH equipment?
A.R_LOS,R_LOF

B. RSBBE, MSBBE

C. MS_AIS, MS_RDI

D. AU_AIS, AU_LOP

E. HP_UNEQ, HP_LOM

Correct Answer: ACD
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QUESTION 11

What are the available types of RBS tests?
A. Regenerator section PRBS tests

B. Multiplex section PRBS tests

C. Higher order PRBS tests

D. Lower order PRBS tests

Correct Answer: CD

QUESTION 12

Which of the following statements are True about J1 and C2 bytes on NG-SDH equipment?
A. For VC-4 services, a line board detects both J1 and C2 bytes.

B. For VC-4 services, a line board does not detect J1 or C2 bytes.

C. For VC-12 services, a line board detects both J1 and C2 bytes,

D. For VC-12 services, a line board does not detect J1 or C2 byte.

Correct Answer: BC

QUESTION 13

The suppression function can be enabled for all alarm of an NE or a board. When an alarm is suppressed, the
corresponding NE or board does not monitor this alarm.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 14

You need to specify the length of data frames before using a data analyzer to test throughput. What is the length of a
standard Ethernet frame?

A. 64 bytes
B. 128 bytes
C. 1518 bytes

D. 1544 bytes
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Correct Answer: ABC

QUESTION 15

Which of the following statements are true about the processing of higher-order path overheads on OptiX NG-SDH
equipment?

A. By default, VC-12-level services are terminated.

B. By default, VC-3-level services are terminated.

C. By default, VC-4-level services are terminated.

D. For VC-4-level services, overhead processing mode is configurable.

E. For VC-12/VC-3-level services, overhead processing mode is not configurable.

Correct Answer. ABDE
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